AR <a (xxb) 2=c/848—>> No.l
1. RO IR X7 X0,

(1) (x—-3)2=10

(2) 2(x—4)*=6

6) (x—2)? =17

.

(1) 4(z+3)* =16

(8) 5(z—1)*=85

9) 3(z+1)*=24

.

(10) 3(z +6)* =33

i




1. RO _IRFBEAEME /230,

ZxAERX<a (xxb) " 2=c/8%—>2> No.2
1) 7(z—-7)* =112

(6) 4(z +3)*>=80

.

(2) 6(z —6)* =102

.

(1) 5(z+6)* =45

.

(8) 8(z+2)* =80

4) (x+2)*=5

.
& (10) 2(z —4)* =6
(5) 5(x —4)* =170
Z

i




ZAERK<a (xxb) " 2=c/\2—>> No.3

1. RO _IRFBEAEME /230,

(1) 4(x —8)* =52

.

(2) 5(x +6)* =45

s

(3) 4(x +3)*=16

(4) 9(x +5)* =54

6) 3(x+1)*=24

.

(8) 6(x +5)* =90

(9) 8(z+5)* =104

.

(10) 6(z +3)* =114

i




4
0-
N
>

/

\;

/

C

b)

—

(X

a

~<

I

c 3

k

1 — 77 I/\O
— ff
I.

8
4
7=
+4

(z

4

)

(1

.

4
)=
2

2(x +

)

(2

.

0
14
2 =

+ 6

(z

7

)

3

.

30
2 =

4)

5(x +

)

5

4
2 =
8)

4(x —

)

(6

2

8
12
9)% =

(z -

8

)

(7

.

8
12
7)? =

(x —

8

)

(8

.

5
13
2 =

7)

9(x —

)

(10

%




ZHARERK<a (xxb) " 2=c/\2—>> No.b

1. RO _IRFBEAEME /230,

(1) (x—-3)2=10

(2) 5(x—4)*=10

s

(3) 9(z —17)* =135

(4) 5(x+6)> =45

%

(5) 8(z+7)*=80

(6) 5(x+4)*>=30

.

(7) 8(x—9)* =128

.

() 2(x+2)*=4

(9) 9(x+2)* =153

.

(10) 3(z +1)* =24

i




